
Fiber Optic Guide for Pandora 2S  
Installation Manual 

 

Daniel Santana Díaz, 20161221 

 
 

 

Fiber guide parts 
● 3x 3D printed white painted pieces (parts 1, 2 and 3). 
● 1x 33cm long stainless steel long bride (part 4). 
● 1x 12cm long stainless steel end spring (Part 5). 
● 1x Stainless steel threaded bended rod, as the back part guide (Part 6).  
● 1x Stainless steel threaded bended rod, as the front part guide (Part 7). 
● 1x 1m long semi transparent plastic cable organizer spring (or 2 half parts of 45 and 

55cm)  
● 1x M6 Long nut. 
● 7x M6 Nut 
● 6x M6 Washer 
● 1x M4 Screw + Nut + Washer, inserted in part 3. 



 
 

Side view 
 

 
Front view 



 
Back view 

Overview 
The fiber optic guide has been designed to fix the layout of the fiber for the first meter after 
the head sensor. This also avoids that the fiber is bent too much and might get damaged. To 
achieve this objective, the instrument needs to be mounted in a slightly different manner 
than in the original setup. The main changes are: 
 

● The collimators are going to be oriented at the bottom part of the instrument, instead 
of being at the top, and horizontally aligned with the arm. 

● The head of the pandora is going to be at the left of the tracker.  
 



 

Step by step instructions to mount the fiber 
1. Move the tracker to a zenith angle of 90º (Point to horizon). 
2. Unmount the pandora head from the tracker, unscrewing the 4 main screws of the 

arm. 
3. Disassemble the head holder from the head, and the arm from the head holder.  
4. In the arm, draw a cross with a pencil to determine the center of the 4 main holes of 

the arm. 
5. With a 4mm drill or higher (3/16”) make a passing through hole in the center of the 

cross. 
 

 
 
 



6. With a 8mm drill (5/16”) drill only enough to hide the head of the part 3 screw into the 
arm. Be sure that the sun pointer is in the same position as in the picture. Otherwise 
you should unmount and flip it. 

 

 

 
 
 
 
 
 



7. Mount the 3D printed part 3 in position, and fasten it with the part 3 screw 
 

 
 

 
 



 
 

8. Mount the arm and the holder again on the head, but in a determined position. Using 
a ruler, make several marks around the head at 10cm distance from the back. 

 

 
 
 
 
 
 
 
 
 
 



9. Place 2 layers of thin tape at this position. 
 

 
 

10. Mount the head holder and the arm as in the picture, maintaining the 10cm from the 
back of the head, taking into account the new orientation of the collimators and the 
tracker. Make sure the sun pointer has the correct position. Otherwise you should flip 
it. 

 
 

 
 
 
 



 
 

11. Mount the head on the tracker. The sun pointer should be at the bottom part. 
12. Prepare the metallic bride, passing it through the 3D printed parts 1&2. 

 

 
 
 
 
 
 



13. Mount them at around 5mm of the back of the pandora head, aligned as vertical as 
possible. Not too much force is needed. 

 

 
14. Mount the back part of the guide (part 6). Fasten it to the 3D printed pieces with the 

included nuts and washers. Keep a margin of 15mm at the bottom part. 
 

 
 



 
15. Mount the front part of the guide (part 7) passing through the 3D printed part 3, facing 

to the back part of the guide. Check whether a small adjustment of the bendings of 
this part is needed in order to have the front and back guides as aligned as possible. 
A bit of force could be necessary to modify the bendings. Therefore it is preferred not 
to tighten this piece until both parts are aligned, in order to avoid breaking the plastic 
parts. When this adjustment is done, merge the front and back parts of the guide by 
screwing the long nut over both parts. Do not fix the nuts of the front part of the guide 
to the plastic part 3 yet. 

 

 




